International Journal of Mathematical Analysis<br>Vol. 11, 2017, no. 13, 647-656<br>HIKARI Ltd, www.m-hikari.com<br>https://doi.org/10.12988/ijma.2017.7547

# A Special Nörlund Means and its Spectrum 

I. A. Okello<br>Pan African University Institute for Basic Sciences, Technology and Innovation<br>P.O. Box 62000-00200, Nairobi, Kenya

J. R. Akanga

Jomo Kenyatta University of Agriculture and Technology
P.O. Box 62000-00200, Nairobi, Kenya

## A. N. Wali

South Eastern Kenya University
P.O. Box 170-90200, Kitui, Kenya

Copyright © 2017 I. A. Okello, J. R. Akanga and A. N. Wali. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.


#### Abstract

In summability theory, different classes of matrices have been investigated and characterized. There are various types of summability methods e.g. Nörlund means, Cesaro, Riesz, Euler, Abel and many others. The spectrum of an operator plays a crucial role in the development of Tauberian theory for the operator and Mercerian theorems which are used to determine the limit or sum of a convergent sequence or series.

In this paper, the spectrum and eigenvalues of a special Nörlund matrix as a bounded operator on the sequence space $c$ is investigated and determined. This is achieved by applying Banach space theorems of functional analysis as well as summability methods of summability theory. It is shown that the spectrum consist of the set $\left\{\lambda \in \mathbb{C}:\left|\lambda-\frac{1}{3}\right| \leq \frac{1}{3}\right\} \cup\{1\}$.


Keywords: Nörlund Means, Spectrum, Eigenvalues, convergence, Operator

## Notations

$\mathbb{R}^{+}$- will denote the set of positive real numbers; $\mathbb{R}$ - the set of real numbers; $\mathbb{C}$ - the set of complex numbers; $\|$.$\| - norm of; \rightarrow$ - tend to; $\emptyset$ - empty set; $c$ - the set of all sequences which converge; $\ell_{p}(0<p<\infty)$ - sequences such that $\sum_{k=0}^{\infty}|x|^{p}<\infty$.

## 1 Introduction

Nörlund mean matrix is an infinite triangular matrix $A=\left(a_{n k}\right)$ with

$$
a_{n k}=\left\{\begin{array}{cc}
\frac{p_{n-k}}{P_{n}} & 0 \leq k \leq n  \tag{1}\\
0, & k>n
\end{array}\right.
$$

, where $p_{0}>0, p_{k} \geq 0$ for all $k \geq 1$ and $P_{n}=\sum_{k=0}^{n} p_{k}$. In this paper we let $p_{0}=p_{1}=p_{2}=m, p_{3}=p_{4}=p_{5} \cdots=0, m \in \mathbb{Z}$, then the matrix is given by

$$
A=\left(\begin{array}{ccccc}
1 & 0 & 0 & 0 & \cdots  \tag{2}\\
\frac{1}{2} & \frac{1}{2} & 0 & 0 & \cdots \\
\frac{1}{3} & \frac{1}{3} & \frac{1}{3} & 0 & \cdots \\
0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \cdots \\
0 & 0 & \frac{1}{3} & \frac{1}{3} & \cdots \\
& & \cdots & &
\end{array}\right)
$$

Theorem 1.1. $A \in(c, c)$ if and only if
i. $\quad \lim _{n \rightarrow \infty} a_{n k}=a_{k}$ for each fixed $k, k=0,1,2, \ldots$
ii. $\quad \lim _{n \rightarrow \infty} \sum_{k=0}^{\infty} a_{n k}=a$ as $n \rightarrow \infty$
iii. $\sup _{n \geq 0}\left\{\sum_{k=0}^{\infty}\left|a_{n k}\right|\right\}<\infty,[7]$.

Theorem 1.2. $A \in\left(l_{1}, l_{1}\right)$ if and only if
i. $\quad \sum_{n=0}^{\infty}\left|a_{n k}\right|<\infty$ for each fixed $k$
ii. $\sup _{k}\left\{\sum_{n=0}^{\infty}\left|a_{n k}\right|\right\}<\infty,[2]$.

Definition 1.3. (Adjoint Operator $T^{*}$ )
The adjoint $T^{*}$ of linear operator $T \in B(X, Y)$ is the mapping from $Y^{*}$ to $X^{*}$ defined by $T^{*} \circ f=f \circ T, f \in Y^{*}$

Theorem 1.4. $T^{*}$ is linear and bounded. Moreover, $\left\|T^{*}\right\|=\|T\|$, [4].
Theorem 1.5. A linear Operator $T \in B(X, Y)$ has a bounded inverse $T^{-1}$ defined on all $Y$ if and only if its adjoint $T^{*}$ has a bounded inverse $\left(T^{*}\right)^{-1}$ defined on all of $X^{*}$. When these inverses exist, $\left(T^{-1}\right)^{*}=\left(T^{*}\right)^{-1},[8,10]$.

Definition 1.6. (Resolvent Operator, $\left.R_{\lambda}=(T-\lambda I)^{-1}\right)$
Let $X$ be a non - empty Banach space and suppose that $T: X \rightarrow X$. With $T$, associated is the operator $T_{\lambda}=T-\lambda I, \lambda \in \mathbb{C}$, where $I$ is the identity operator on $X$. If $T_{\lambda}=T-\lambda I$ has an inverse, then it is denoted by $R_{\lambda}(T)$ or simply $R_{\lambda}$ and call it the resolvent operator of $T$.

Definition 1.7. (Resolvent set $\rho(T)$, spectrum $\sigma(T)$ )
Let $X$ be a non - empty Banach space and suppose that $T: X \rightarrow X$. The resolvent set $\rho(T)$ of $T$ is the set of complex numbers $\lambda$ for which $(T-\lambda I)^{-1}$ exist as a bounded operator with the domain $X$. The spectrum $\sigma(T)$ of $T$ is the compliment of $\rho(T)$ in $\mathbb{C}$.

Theorem 1.8. The resolvent set $\rho(T)$ of a bounded linear operator $T$ on a Banach space $X$ is open; hence the spectrum $\sigma(T)$ of $T$ is closed, [1, 4].

Theorem 1.9. If $X$ is any Banach space and $T \in B(X)$, then $\sigma(T) \neq \emptyset$, [1, 4].

The spectrum $\sigma(T)$ of a bounded linear operator $T: X \rightarrow X$ on a Banach space $X$ is compact and lies in the disk given by:

$$
\begin{equation*}
|\lambda|=\|T\| \tag{3}
\end{equation*}
$$

[4].
Theorem 1.10. Let $T \in B(X)$, where $X$ is any Banach space, then the spectrum of $T^{*}$ is identical to the spectrum of $T$. Furthermore, $R_{\lambda}\left(T^{*}\right)=$ $\left(R_{\lambda}(T)\right)^{*}$ for $\lambda \in \rho(T)=\rho\left(T^{*}\right),[8]$ and [10].

## 2 The spectrum of $A$ operator on $c$

We determine the spectrum of matrix $A$ as an operator on $c$ The matrix $A=$

$$
\left(\begin{array}{cccccc}
1 & 0 & 0 & 0 & 0 & \cdots \\
\frac{1}{2} & \frac{1}{2} & 0 & 0 & 0 & \cdots \\
\frac{1}{3} & \frac{1}{3} & \frac{1}{3} & 0 & 0 & \cdots \\
0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & 0 & \cdots \\
0 & 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \cdots \\
& & \cdots & &
\end{array}\right)
$$

Corollary 2.1. $A \in B(c)$
Proof. i. $\lim _{n \rightarrow \infty} a_{n k}=0$ for each fixed $k, k=0,1,2, \ldots$
ii. $\lim _{n \rightarrow \infty} \sum_{k=0}^{\infty} a_{n k}=1$ as $n \rightarrow \infty$ iii. $\|A\|=\sup _{n \geq 0}\left\{\sum_{k=0}^{\infty}\left|a_{n k}\right|\right\}=1<\infty$

### 2.1 The Eigenvalues of $A$ operator on $c$

Theorem 2.2. The eigenvalue of $A \in B(c)$ is the singleton set $\{1\}$
Proof. Solving the system $A x=\lambda x, x \neq \theta$ in $c$ and $\lambda \in \mathbb{C}$, then

$$
\left(\begin{array}{cccccc}
1 & 0 & 0 & 0 & 0 & \cdots  \tag{4}\\
\frac{1}{2} & \frac{1}{2} & 0 & 0 & 0 & \cdots \\
\frac{1}{3} & \frac{1}{3} & \frac{1}{3} & 0 & 0 & \cdots \\
0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & 0 & \cdots \\
0 & 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \cdots \\
& & \cdots & &
\end{array}\right)\left(\begin{array}{c}
x_{0} \\
x_{1} \\
x_{2} \\
x_{3} \\
x_{4} \\
\vdots
\end{array}\right)=\lambda\left(\begin{array}{c}
x_{0} \\
x_{1} \\
x_{2} \\
x_{3} \\
x_{4} \\
\vdots
\end{array}\right)
$$

which gives

$$
\begin{gathered}
x_{0}=\lambda x_{0} \\
\frac{1}{2} x_{0}+\frac{1}{2} x_{1}=\lambda x_{1} \\
\frac{1}{3} x_{0}+\frac{1}{3} x_{1}+\frac{1}{3} x_{2}=\lambda x_{2} \\
\frac{1}{3} x_{1}+\frac{1}{3} x_{2}+\frac{1}{3} x_{3}=\lambda x_{3} \\
\vdots \\
\frac{1}{3} x_{n-2}+\frac{1}{3} x_{n-1}+\frac{1}{3} x_{n}=\lambda x_{n} \\
\vdots
\end{gathered}
$$

Solving equation 5 , if $x_{0}$ is the first non zero entry of $x$, then $\lambda=1$. But $\lambda=1$ implies $x_{0}=x_{1}=x_{2}=\cdots=x_{n}=\cdots$, which shows that $x$ is in the span of $\delta=(1,1,1,1, \cdots)$ which tends to 1 as $n$ tends to infinity. Therefore $\lambda=1$ is an eigenvalue of $A \in B(c)$. When $x_{1}$ is the first non zero entry of $x, \lambda=\frac{1}{2}$. But $\lambda=\frac{1}{2}$ implies $x_{0}=0, x_{2}=2 x_{1}, x_{3}=6 x_{1}, x_{4}=16 x_{1}, x_{5}=44 x_{1}, \cdots$
which shows that $x$ is spanned by $\{0,1,2,6,16,44, \cdots\}$ an increasing sequence which is not bounded above, hence does not converge as $n$ tends to infinity. If $x_{n+2}$ is the first non zero entry for $n=0,1,2,3, \cdots$, then $\lambda=\frac{1}{3}$, solving the system gives $x_{n}=0$ for $n=0,1,2,3, \cdots$ which is a contradiction hence $\lambda=\frac{1}{3}$ cannot be an eigenvalue.

### 2.2 The Eigenvalues of $A^{*}$ operator on $\ell_{1}$

Theorem 2.3. Let $A: c \rightarrow c$ be a linear map and define $A^{*}: c^{*} \rightarrow c^{*}$ i,e $A^{*}: \ell_{1} \rightarrow \ell_{1} b y A^{*}(g)=g \circ A, g \in c^{*} \equiv \ell_{1}$. Then both $A$ and $A^{*}$ must be given by a matrix. Moreover $A^{*}: \ell_{1} \rightarrow \ell_{1}$ is given by the matrix,

$$
A^{*}=\left(\begin{array}{cc}
\chi(\lim A) & \left(v_{n}\right)_{0}^{\infty}  \tag{6}\\
\left(a_{k}\right)_{0}^{\infty} & A^{t}
\end{array}\right)
$$

[5].
Corollary 2.4. Let $A: c \rightarrow c$. Then $A^{*} \in B\left(\ell_{1}\right)$ and

$$
A^{*}=\left(\begin{array}{cccccc}
1 & 0 & 0 & 0 & 0 & \cdots  \tag{7}\\
0 & 1 & \frac{1}{2} & \frac{1}{3} & 0 & \cdots \\
0 & 0 & \frac{1}{2} & \frac{1}{3} & \frac{1}{3} & \cdots \\
0 & 0 & 0 & \frac{1}{3} & \frac{1}{3} & \cdots \\
0 & 0 & 0 & 0 & \frac{1}{3} & \cdots \\
& & & \cdots & &
\end{array}\right)
$$

Proof. By theorem 2.3

$$
A^{*}=\left(\begin{array}{cc}
\chi(\lim A) & \left(v_{n}\right)_{0}^{\infty}  \tag{8}\\
\left(a_{k}\right)_{0}^{\infty} & A^{t}
\end{array}\right)
$$

where $\chi(\lim A)=\lim _{A}(\delta)-\sum_{k=0}^{\infty} \lim _{A} \delta^{k}$ is called the characteristic of a ma$\operatorname{trix} A \delta=\{1,1,1,1, \ldots\}, \lim _{A}(\delta)=1$ and $\delta^{k}=\{0,0,0,0, \ldots, 1,0,0 \ldots\}$, having zeros with 1 in the $k^{t h}$ position, $\lim _{A} \delta^{k}=0$ and $\sum \lim _{A} \delta^{k}=0$. Hence $\chi(\lim A)=1-0=1$ $v_{n}=\chi\left(P_{n} \circ T\right)=\left(P_{n} \circ T\right) \delta-\sum_{k=0}^{\infty}\left(P_{n} \circ T\right) \delta^{k}$ but for matrix $A,\left(P_{n} \circ T\right) \delta=1, \forall n$ and $\sum_{k=0}^{\infty}\left(P_{n} \circ T\right) \delta^{k}=1$ i.e

$$
\begin{gather*}
v_{0}=1-(1+0+0+0+\cdots)=1-1=0 \\
v_{1}=1-\left(\frac{1}{2}+\frac{1}{2}+0+0+\cdots\right)=1-1=0 \\
v_{2}=1-\left(\frac{1}{3}+\frac{1}{3}+\frac{1}{3}+0+\cdots\right)=1-1=0 \\
v_{3}=1-\left(0+\frac{1}{3}+\frac{1}{3}+\frac{1}{3}+0+0 \cdots\right)=1-1=0  \tag{9}\\
\vdots \\
v_{n}=0, \quad n \geq 0
\end{gather*}
$$

hence the matrix becomes

$$
\left(\begin{array}{cc}
1 & \theta  \tag{10}\\
\theta & A^{T}
\end{array}\right)
$$

Theorem 2.5. The eigenvalues of $A^{*} \in B\left(\ell_{1}\right)$ is the set $\left\{\lambda \in \mathbb{C}:\left|\lambda-\frac{1}{3}\right|<\frac{1}{3}\right\}$ Proof. Consider the system $A^{*} x=\lambda x, x \neq \theta$ in $\ell_{1}$ and $\lambda \in \mathbb{C}$,

$$
\left(\begin{array}{ccccccc}
1 & 0 & 0 & 0 & 0 & 0 & \cdots  \tag{11}\\
0 & 1 & \frac{1}{2} & \frac{1}{3} & 0 & 0 & \cdots \\
0 & 0 & \frac{1}{2} & \frac{1}{3} & \frac{1}{3} & 0 & \cdots \\
0 & 0 & 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \cdots \\
0 & 0 & 0 & 0 & \frac{1}{3} & \frac{1}{3} & \cdots \\
0 & 0 & 0 & 0 & 0 & \frac{1}{3} & \cdots
\end{array}\right)\left(\begin{array}{c}
x_{0} \\
x_{1} \\
x_{2} \\
x_{3} \\
x_{4} \\
x_{5} \\
\vdots
\end{array}\right)=\lambda\left(\begin{array}{c}
x_{0} \\
x_{1} \\
x_{2} \\
x_{3} \\
x_{4} \\
x_{5} \\
\vdots
\end{array}\right)
$$

which gives

$$
\begin{gather*}
x_{0}=\lambda x_{0} \\
x_{1}+\frac{1}{2} x_{2}+\frac{1}{3} x_{3}=\lambda x_{1} \\
\frac{1}{2} x_{2}+\frac{1}{3} x_{3}+\frac{1}{3} x_{4}=\lambda x_{2}  \tag{12}\\
\frac{1}{3} x_{3}+\frac{1}{3} x_{4}+\frac{1}{3} x_{5}=\lambda x_{3} \\
\frac{1}{3} x_{4}+\frac{1}{3} x_{5}+\frac{1}{3} x_{6}=\lambda x_{4} \\
\ldots \\
\frac{1}{3} x_{n-2}+\frac{1}{3} x_{n-1}+\frac{1}{3} x_{n}=\lambda x_{n-2}, \quad \text { for } n \geq 5
\end{gather*}
$$

, solving the system gives

$$
\begin{aligned}
& x_{n}=3\left(\lambda-\frac{1}{3}\right) x_{n-2}-x_{n-1}, n \geq 5 \text {, or } \\
& \quad \text { for nodd, } x_{n}=3^{\frac{n-1}{2}-1}\left(\lambda-\frac{1}{3}\right)^{\frac{n-1}{2}-1} x_{3}-\sum_{k=0}^{\frac{n-1}{2}-2} 3^{k}\left(\lambda-\frac{1}{3}\right)^{k} x_{n-(2 k+1),} n \geq 5 \\
& \quad \text { for neven, } x_{n}=3^{\frac{n}{2}-2}\left(\lambda-\frac{1}{3}\right)^{\frac{n}{2}-2} x_{4}-\sum_{k=0}^{\frac{n}{2}-3} 3^{k}\left(\lambda-\frac{1}{3}\right)^{k} x_{n-(2 k+1)} n \geq 6 \\
& \text { Hence } \sum_{n=0}^{\infty}\left|x_{n}\right|=\left|x_{0}\right|+\left|x_{1}\right|+\left|x_{2}\right|+\left|x_{3}\right|+\left|x_{4}\right|+\sum_{n=6}^{\infty}\left|3^{\frac{n}{2}-2}\left(\lambda-\frac{1}{3}\right)^{\frac{n}{2}-2} x_{4}-\sum_{k=0}^{\frac{n}{2}-3} 3^{k}\left(\lambda-\frac{1}{3}\right)^{k} x_{n-(2 k+1)}\right|+ \\
& \sum_{n=1}^{\infty}\left|3^{\frac{n-1}{2}-1}\left(\lambda-\frac{1}{3}\right)^{\frac{n-1}{2}-1} x_{3}-\sum_{k=0}^{\frac{n-1}{2}-2} 3^{k}\left(\lambda-\frac{1}{3}\right)^{k} x_{n-(2 k+1)}\right| \\
& \begin{array}{l}
n \text { odd } \\
\leq \sum_{n=0}^{4}\left|x_{n}\right|+\sum_{n=6}^{\infty}\left|3^{\frac{n}{2}-2}\left(\lambda-\frac{1}{3}\right)^{\frac{n}{2}-2} x_{4}\right|+\sum_{n=5}^{\infty}\left|3^{\frac{n-1}{2}-1}\left(\lambda-\frac{1}{3}\right)^{\frac{n-1}{2}-1} x_{3}\right|+ \\
n \text { odd }
\end{array}
\end{aligned}
$$

$$
\begin{align*}
& \sum_{n=6}^{n} \sum_{k=0}^{\infty}\left|3^{k}\left(\lambda-\frac{1}{3}\right)^{k} x_{n-(2 k+1)}\right|+\sum_{\substack{n=5 \\
n \text { odd }}}^{\infty} \sum_{k=0}^{\frac{n-1}{2}-2}\left|3^{k}\left(\lambda-\frac{1}{3}\right)^{k} x_{n-(2 k+1)}\right|  \tag{13}\\
& \text { neven }
\end{align*}
$$

This is a geometric series with the common ratio, $r=3\left(\lambda-\frac{1}{3}\right)$. This series converge only if $|r|<1$, that is if $\left|3\left(\lambda-\frac{1}{3}\right)\right|=3\left|\lambda-\frac{1}{3}\right|<1$ or $\left|\lambda-\frac{1}{3}\right|<\frac{1}{3}$.

### 2.3 The spectrum of $A$ operator on $c$

Corollary 2.6. For matrix $A$, we have

$$
\begin{align*}
& A-I \lambda=\left(\begin{array}{cccccc}
1-\lambda & 0 & 0 & 0 & 0 & \cdots \\
\frac{1}{2} & \frac{1}{2}-\lambda & 0 & 0 & 0 & \cdots \\
\frac{1}{3} & \frac{1}{3} & \frac{1}{3}-\lambda & 0 & 0 & \cdots \\
0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3}-\lambda & 0 & \cdots \\
0 & 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3}-\lambda & \cdots \\
& & \cdots & & &
\end{array}\right)  \tag{14}\\
& M=(A-I \lambda)^{-1} \text { is given by } m_{n k}=\left\{\begin{array}{cc}
\frac{1}{a_{n n}}, & n=k \\
\frac{(-1)^{n-k}}{\prod_{j=k}^{n} a_{n n}} D_{n-k}^{(k)}, & (0 \leq k \leq n-1),\left(n, k \in \mathbb{N}_{0}\right) \\
0, & (k>n)
\end{array}\right. \tag{15}
\end{align*}
$$

[9] where

$$
\begin{align*}
D_{n-k}^{(k)}=\left|\begin{array}{cccccc}
a_{1 k} & a_{1 k+1} & 0 & 0 & \cdots 0 \\
a_{2 k} & a_{2 k+1} & a_{2 k+2} & 0 & \cdots 0 \\
0 & a_{3 k+1} & a_{3 k+2} & a_{3 k+3} & 0 \\
\vdots & 0 & \ddots & \ddots & \vdots \\
0 & \vdots & \ddots & \ddots & \ddots & a_{n, n+k-1}
\end{array}\right|  \tag{16}\\
\text { for } k=0, \quad D_{n}^{(0)}=\left|\begin{array}{cccccc}
\frac{1}{2} & \frac{1}{2}-\lambda & 0 & 0 & \cdots & 0 \\
\frac{1}{3} & \frac{1}{3} & \frac{1}{3}-\lambda & 0 & \cdots & 0 \\
0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3}-\lambda & \cdots & 0 \\
0 & 0 & \frac{1}{3} & \frac{1}{3} & \cdots & 0 \\
\vdots & \vdots & \vdots & \vdots & \ddots & 0 \\
0 & 0 & 0 & \cdots & \frac{1}{3} & \frac{1}{3}
\end{array}\right| \text {, which is an } n \times n
\end{align*}
$$

tridiagonal matrix.
for $k \geq 1, D_{n-k}^{(k)}=\left|\begin{array}{ccccc}\frac{1}{3} & \frac{1}{3}-\lambda & 0 & \cdots & 0 \\ \frac{1}{3} & \frac{1}{3} & \frac{1}{3}-\lambda & \cdots & 0 \\ 0 & \frac{1}{3} & \frac{1}{3} & \cdots & 0 \\ \vdots & \vdots & \vdots & \ddots & 0 \\ 0 & 0 & \cdots & \frac{1}{3} & \frac{1}{3}\end{array}\right|$, this is an $n-k \times n-k$ tridiagonal matrix.

Substituting in equation 15 gives matrix $M$ as,

$$
M=\left(\begin{array}{cccccc}
\frac{1}{1-\lambda} & 0 & 0 & 0 & 0 & \cdots  \tag{17}\\
\frac{-1}{2(1-\lambda)\left(\frac{1}{2}-\lambda\right)} & \frac{1}{2} & 0 & 0 & 0 & \cdots \\
\frac{\left\{\frac{1}{2}-\left(\frac{1}{2}-\lambda\right)\right\}}{3(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)} & \frac{-1}{3\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)} & \frac{1}{\frac{1}{3}-\lambda} & 0 & 0 & \cdots \\
\frac{-\left\{\frac { 1 } { 2 } \left(1-(1-3 \lambda)-\left(\frac{1}{2}-\lambda\right)\right.\right.}{3^{2}(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{2}} & \frac{(1-(1-3 \lambda)}{3^{2}\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{2}} & \frac{-1}{3^{2}\left(\frac{1}{3}-\lambda\right)^{2}} & \frac{1}{\frac{1}{3}-\lambda} & 0 & \cdots \\
\vdots & \vdots & \vdots & \vdots & \vdots & \cdots
\end{array}\right)
$$

that is

$$
\text { for } k=0, m_{00}=\frac{1}{1-\lambda}, m_{n 0}=\frac{(-1)^{n}}{(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} D_{n}^{(0)}=\frac{(-1)^{n}\left(\frac{1}{3} D_{n-1}^{(0)}-\frac{1}{3}\left(\frac{1}{3}-\lambda\right) D_{n-2}^{0}\right)}{(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} \text {, }
$$

for $k=1, m_{11}=\frac{1}{\frac{1}{2}-\lambda}, m_{n 1}=\frac{(-1)^{n-1}}{\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} D_{n-1}^{(1)}=\frac{(-1)^{n-1}\left(\frac{1}{3} D_{n-2}^{(1)}-\frac{1}{3}\left(\frac{1}{3}-\lambda\right) D_{n-3}^{(1)}\right)}{\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}}$ for

$$
\begin{equation*}
k \geq 2, m_{n n}=\frac{1}{\frac{1}{3}-\lambda}, m_{n k}=\frac{(-1)^{n-k}}{\left(\frac{1}{3}-\lambda\right)^{n-k+1}} D_{n-k}^{(k)}=\frac{(-1)^{n-k}\left(\frac{1}{3} D_{n-k-1}^{(k)}-\frac{1}{3}\left(\frac{1}{3}-\lambda\right) D_{n-k-2}^{(k)}\right)}{\left(\frac{1}{3}-\lambda\right)^{n-k+1}} \tag{18}
\end{equation*}
$$

Direct computations shows that $(A-I \lambda) M=M(A-I \lambda)=I$, hence $M=$ $(A-I \lambda)^{-1}$

Theorem 2.7. The spectrum $\sigma(A)$ of $A \in B(c)$ is the set $\left\{\lambda \in \mathbb{C}:\left|\lambda-\frac{1}{3}\right| \leq\right.$ $\left.\frac{1}{3}\right\} \cup\{1\}$

Proof. We show that $(A-I \lambda)^{-1} \in B(c)$ for all $\lambda \in \mathbb{C}$ such that $\left|\lambda-\frac{1}{3}\right|>\frac{1}{3}$ for $k=0, D_{1}^{(0)}=\frac{1}{2}$
$D_{2}^{(0)}=\frac{1}{2}\left(\frac{1}{3}\right)-\left(\frac{1}{2}-\lambda\right) \frac{1}{3}=\frac{1}{3}\left\{\frac{1}{2}-\left(\frac{1}{2}-\lambda\right)\right\}$
$D_{3}^{(0)}=\frac{1}{3^{2}}\left\{\frac{1}{2}-\frac{1}{2}(1-3 \lambda)-\left(\frac{1}{2}-\lambda\right)\right\}=\frac{1}{3^{2}}\left\{\frac{1}{2}(1-(1-3 \lambda))-\left(\frac{1}{2}-\lambda\right)\right\}$
$D_{4}^{(0)}=\frac{1}{3^{3}}\left\{\frac{1}{2}-\frac{2}{2}(1-3 \lambda)-\left(\frac{1}{2}-\lambda\right)-\left(\frac{1}{2}-\lambda\right)(1-3 \lambda)\right\}=\frac{1}{3^{3}}\left\{\frac{1}{2}(1-2(1-3 \lambda))-\right.$ $\left.\left(\frac{1}{2}-\lambda\right)(1-(1-3 \lambda))\right\}$
$D_{5}^{(0)}=\frac{1}{3^{4}}\left\{\frac{1}{2}-\frac{3}{2}(1-3 \lambda)+\frac{1}{2}(1-3 \lambda)^{2}-\left(\frac{1}{2}-\lambda\right)+2\left(\frac{1}{2}-\lambda\right)(1-3 \lambda)\right\}=\frac{1}{3^{4}}\left\{\frac{1}{2}(1-\right.$ $\left.3(1-3 \lambda)+(1-3 \lambda)^{2}\right)-\left(\frac{1}{2}-\lambda\right)(1+2(1-3 \lambda)\}$

$$
D_{n}^{(0)}=\frac{1}{3^{n-1}}\left\{\frac{1}{2}\left(\sum_{k=0}^{\frac{n}{2}-1} a_{k}(1-3 \lambda)^{k}\right)-\left(\frac{1}{2}-\lambda\right)\left(\sum_{k=0}^{\frac{n}{2}-1} b_{k}(1-3 \lambda)^{k}\right)\right\} \text { when } n
$$

is even, and

$$
\begin{equation*}
D_{n}^{(0)}=\frac{1}{3^{n-1}}\left\{\frac{1}{2}\left(\sum_{k=0}^{\frac{n-1}{2}} a_{k}(1-3 \lambda)^{k}\right)-\left(\frac{1}{2}-\lambda\right)\left(\sum_{k=0}^{\frac{n-1}{2}} b_{k-1}(1-3 \lambda)^{k-1}\right)\right\} \tag{19}
\end{equation*}
$$

when $n$ is odd, where $a_{k^{\prime} s}$ and $b_{k^{\prime} s}$ are integers.
Substituting equation 15 gives the $n^{\text {th }}$ entry as

$$
m_{n 0}=\frac{(-1)^{n}}{(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} D_{n}^{(0)}=\frac{(-1)^{n}\left\{\frac{1}{2}\left(\sum_{k=0}^{n} \sum_{k}^{n} a_{k}(1-3 \lambda)^{k}\right)-\left(\frac{1}{2}-\lambda\right)\left(\sum_{k=0}^{\frac{n}{2}-1} b_{k}(1-3 \lambda)^{k}\right)\right\}}{3^{n-1}(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} \text {, when }
$$

$n$ is even, and

$$
m_{n 0}=\frac{(-1)^{n}}{(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} D_{n}^{(0)}=\frac{(-1)^{n}\left\{\frac{1}{2}\left(\sum_{k=0}^{\frac{n-1}{2}} a_{k}(1-3 \lambda)^{k}\right)-\left(\frac{1}{2}-\lambda\right)\left(\sum_{k=0}^{\frac{n-1}{2}} b_{k-1}(1-3 \lambda)^{k-1}\right)\right\}}{3^{n-1}(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}} \text {,when }
$$

$n$ is odd
as $n \rightarrow \infty$, the colums $m_{n o} \rightarrow 0$ only if the denominator tends to $\infty$ and the denominator tends to $\infty$ provided $\left|3\left(\frac{1}{3}-\lambda\right)\right|>1$.

Similarly for $k \geq 1$, the denominator tends to $\infty$ provided $\left|3\left(\frac{1}{3}-\lambda\right)\right|>1$ or $\left|\frac{1}{3}-\lambda\right|>\frac{1}{3}$

Which proves theorem 1.1 (i). Summing the entries of the matrix 17 along the $n^{\text {th }}$ row

$$
\sum_{k=0}^{\infty}\left|m_{n k}\right|=\left|\frac{(-1)^{n} D_{n}^{(0)}}{(1-\lambda)\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}}\right|+\left|\frac{(-1)^{n-1} D_{n-1}^{(1)}}{\left(\frac{1}{2}-\lambda\right)\left(\frac{1}{3}-\lambda\right)^{n-1}}\right|+\sum_{k=2}^{n}\left|\frac{(-1)^{n-k}\left(\frac{1}{3} D_{n-k-1}^{(k)}-\frac{1}{3}\left(\frac{1}{3}-\lambda\right) D_{n-k-2}^{(k)}\right)}{\left(\frac{1}{3}-\lambda\right)^{n-k+1}}\right|=
$$ $s_{n}$ say for $n \geq 0 \sup _{n}\left\{s_{n}\right\} \leq K<\infty$, provided $\lambda \in \mathbb{C}$ such that $\left|\frac{1}{3}-\lambda\right|>\frac{1}{3}$ , hence satisfies part (iii). For part (ii), we have $M=(A-I \lambda)^{-1}$ and $(A-I \lambda)(A-I \lambda)^{-1}=I$. Now $M \delta=\sum_{k=0}^{n} m_{n k}$, where $\delta=(1,1,, 1 \cdots)^{T}$. Also $(A-I \lambda)^{-1}(A-I \lambda)=M(A-I \lambda)=I$, multiplying by $\delta$ on both sides $M(A-I \lambda) \delta=I \delta$. Since $A \delta=\delta$, we have $M(\delta-\lambda \delta)=\delta$ or $M(1-\lambda) \delta=\delta$. Therefore

$$
\begin{equation*}
M \delta=\frac{1}{1-\lambda} \delta \tag{20}
\end{equation*}
$$

That is

$$
\begin{equation*}
\sum_{k=0}^{n} m_{n k}=\frac{1}{1-\lambda} \tag{21}
\end{equation*}
$$

hence $\lim _{n} \sum_{k=0}^{\infty} m_{n k}=\lim _{n} \frac{1}{1-\lambda}=\frac{1}{1-\lambda}<\infty$ provided $\lambda \in \mathbb{C}$ such that $\lambda \neq 1$.

Therefore $(A-I \lambda)^{-1} \in B(c)$ if $\lambda \in \mathbb{C}$ such that $\left|\frac{1}{3}-\lambda\right|>\frac{1}{3}$. Which implies $(A-I \lambda)^{-1} \notin B(c)$ if $\lambda \in \mathbb{C}$ such that $\left|\frac{1}{3}-\lambda\right| \leq \frac{1}{3}$. Clearly, when $\lambda=1$, column 0 is infinite therefore the inverse does not exist. Hence $\sigma(A)=\{\lambda \in$ $\left.\mathbb{C}:\left|\lambda-\frac{1}{3}\right| \leq \frac{1}{3}\right\} \cup\{1\}$.

## References

[1] A. Taylor and D. Lay, Introductionto Functional Analysis, $2^{\text {nd }}$ edition, John Wiley and Sons, 1980.
[2] B. V. Limaye, Functional Analysis, New Age International Ltd, New Delhi, 1986.
[3] C. Coskun, A special Nörlund mean and its Eigenvalues, Communication Faculty Sci. University Ankara, Ser. A1, Math. Stat., 52 (2003), 27-31. https://doi.org/10.1501/commua1_0000000346
[4] E. Kreyszig, Introductory Functional Analysis with Applications, John Wiley and Sons, 1980.
[5] E. K. Dorff and A. Wilansky, Remarks on Summability, Journal of the London Mathematical Society, 35 (1960), 234 - 236.
https://doi.org/10.1112/jlms/s1-35.2.234
[6] G. H. Hardy, Divergent Series, Oxford University Press, 1948.
[7] I. J. Maddox, Elements of Functional Analysis, Cambridge University Press, UK, 1970.
[8] N. Dunford and J. Schwartz, Linear Operators, PartI, General Theory, Interscience Publishers, Inc., New York, 1957.
[9] P. Baliarsingh and S. Dutta, On an explicit formula for inverse of triangular matrices, Journal of the Egyptian Mathematical Society, 23 (2015), 297-302. https://doi.org/10.1016/j.joems.2014.06.001
[10] S. Goldberg, Unbounded Linear Operators - Theory and Applications, McGraw Hill Book Co, 1966.

Received: May 23, 2017; Published: July 5, 2017

